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fruffa o . 392 (FAftreman 3% - 60
Time allowed : 3 Hours] |[Maximum Marks : 60
P (i) FH-TAEATEEC Hoa HE
Note : There are THREE sections in the paper A, B and C.

(ii) QT g7 G 1 F G 10 97T F IR AT | 5% YT Q& 37 H 8 0

@t 10 47T FEGAE FHR F 5971 F 8 |
Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QI @ F 8 YT 7 @ 581 6 T & I HAC | A% F 3 3% F1 2 0d

§91 5 E / 50 &Gl 7 I g |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QW F6 T G @ [ 4 T & IR AT | 5% FH 8 HF F1 8 0

(v)

7% 15 37 / 150 Yiegl § 3o e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

I Qa9 & TN JT1 F1 FHAR UF T & BT |

Solve all the questions of a section consecutively together.

(vi) 2T ST § SR &4 @1 Rl 7 s sag 8 a8

Only English version is valid in case of difference in both the languages.

A - T
Section — A
L () e - fagfa s % e fag o g w1 Fram w2 7
(a) WeATEYdl €T (b) wvE fag
(c) 3T Hiwr (d) W wfdas
Upto which point on the stress-strain curve is Hooke’s law valid ?
(a) Elastic limit (b) Yield point
(c) Proportionality limit (d) Fracture point

Fiss
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RE3002 (2 of 4) 7272
(ii) gamafﬁalmé%mﬁw&%ﬁm ‘W’ kNwam@a’tmﬁaazq

Hftrehan s 3ol fehaam &P kN-m ®?
(a) W (b) W/m
) WxlI d) Wx %

What is the maximum bending moment for simply supported beam of length /
carrying a point load “W” kN at its centre in kKN-m ?

(@ W (b) W/m
) Wxl d) Wx ZI{
(iii) T § & =\ ot gefiestor | deha sl i 2 7
(a) M=EIR (b) M= El
2
(c) M=(ED’R d M= ———(Eli)
Which of the following is the correct equation for bending moment ?
(a) M=EIR (b) M= %
() M=(EIP¥R (d M= %)—-
(iv) o 3fteran wda Sfaae g
(a) IEHEM 338 T (b) =wfagw
(¢) HHA@IEW (d) ¥R ﬁz‘_‘ o
Maximum shearing stress in a beam is at
(a) Neutral axis (b) Extreme point
(¢) Mid span (d) Action of loading
(v) U Ty Formept agar 9 120 | 3tfys 2, a1 &9 9= S ?
(a) oY & (b) ol
(c) WEHE™ (d) | =™
A column whose slenderness ratio is greater than 120 is known as
(a) short column (b) long column
(¢) medium column (d) composite column
(vi) T enm fpa e dsa g2 ¢
(a) FATT AQ (b) &fcw &
(¢) IAdH FATEI-HIE (d) =gFaw wfeswor B
Column always tends to buckle in the direction of
(a) vertical axis (b) horizontal axis

(¢) minimum cross-section (d) least radius of gyration
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(vii) WU gagal $ S.I E 2

(a) A-HIR (b) =geA-wiew?

(c) ~gEA-ie/ifem (d) A HE
What is the S.I. unit of torsional rigidity ?

(a) N-m (b) N-m?2

(c) N-m/Radian (d) None of above

(viii) ire frgra # Frafafiga 3§ & <9 =t amomd o € 2/2 7
(a) WH gl ae EHiefi
(b) TR i Gl agAEE 2 |
(c) e FI TS  HIY WG Uk HHIA &l & Hehal |
(d) Iuraa a4t

Which of the following assumption(s) is/are made in torsion theory ?

(a) Shaft is perfectly straight.

(b) Material of the shaft is heterogeneous.

(¢) Twist cannot be uniform along the length of the shaft.
(d) All of the above

(ix) Fm Fafor e 2

(a) FARA THS! (b) #H=

(c) HA (d) 9t

Artificial construction material is

(a) Timber (b) Cement

(¢) Soil (d) Stone

(x) T hwan foreds g e o it fifddt @ gen e s 2

(a) @A (b) HaH

(c) SwTAl (TR (d) @ ame

The process by which the water voids in soil are removed is called

(a) compression (b) consolidation

(¢) permeability (d) shear strength
Jag —
Section - B

2. A Wi SN A At 1 gRefd hif |
Define the Modulus of Rigidity and Bulk Modulus.
3. T ST 9 A 8 7
What is Simply Supported Beam ?

4 ygEEIeET AT FENE ?
What is Neutral Axis of beam ?

5. w6 faweran o fafi= aftenl 6 smen |

Explain the various modes of failure of columns.

7272
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6.

10.

1.

12.

13.

14.

15.

TR % feru ware adfisto fafau |
Write the torsion equation for shaft. ' (3)
yifea 3k 2/ & e gy fafau |
Write the relation between power and torque. 3)
a9 3R Ha & o9 37at 9130 |
Differentiate between Consolidation and Compaction. (3)
die & fafim 3uam fafau |
Write the various uses of Cement. 3)
[ —
Section - C

U 2 cm? H1E §I% drel 39Td 61 Fg T faa-1 7 fe@m san sm@ s@ e gu @ | 9
%1 e a1 A | E = 200 kN/mm? #ifsre |

A steel bar of cross-sectional area 2 cm? is acted upon by external forces as shown in

Fig.-1. Determine the total elongation of the bar. Take E = 200 kN/mm?. (8)
250 mm—=~f— 400 mm —=f——— 600 mm ——=|
A B B D
D e S -
80 kN ITOKN 20kN 10 kN
-1/ Fig.-1

fam-2 ¥ wefifa awe snefem g % fou sda aa 3@ 9 996 3ol 3w T H
U Y "] i guid |
For the simply supported beam shown in Fig.-2 draw Shear Force Diagram and

Bending Moment Diagram with important values on them. (8)
4 kN 8 kN
l : 2 kN/m l
. B B D E £
2m_ ; 1m 4m 3 2m ; 1lm
T ssB. " "
-2/ Fig.-2

T 904 & fagr=a | &t 78 ymond w1 # 2
What will be the assumption taken in the theory of simple bending ? (8)

Ty % fepamil i feafedi & sram sargar I &1 sner &1 g3 ferftge v fam oft =g |
Write Euler’s formula of buckling loads for different end conditions also draw the sketch.  (8)

ferdt Y wromeren @ wifad #9916 ST & Sne |

Explain the factor affecting permeability of soil. (8)
=t el & TV fefau |
Write down the properties of good timber. (8)

Fis:



